Miroslav Laitoch First phases of the associated equation with parameters for the differential equation $y^{\prime\prime}=q(t)y$

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 33 (1994), No. 1, 75--93

Persistent URL: http://dml.cz/dmlcz/120317

Terms of use:

© Palacký University Olomouc, Faculty of Science, 1994

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

FIRST PHASES OF THE ASSOCIATED EQUATION WITH PARAMETERS FOR THE DIFFERENTIAL EQUATION y'' = q(t)y

MIROSLAV LAITOCH

(Received August 18, 1993)

Abstract

In the theory of second order linear differential equations in Jacobi form

$$y'' = q(t)y, \quad t \in \mathcal{J},\tag{q}$$

the phases of the first and second kind for an ordered pair of independent solutions u, v of the equation (q) have a fundamental importance. In Borůvka's book [1] a relation is given between first and second phases of a given solution basis (u, v) of the differential equation (q). The relation involves the first and second amplitude of the basis. In this question emerges the role of the associated differential equation (\hat{q}_1) to the equation (q). Furthermore, the differential equation associated to differential equation (q) has the form

$$Y'' = \hat{q}_1(t)Y, \qquad (\hat{q}_1)$$

where

$$\hat{q}_1(t) = q(t) - \frac{1}{2} \frac{q''(t)}{q(t)} + \frac{3}{4} \frac{(q'(t))^2}{(q(t))^2}, \ t \in \mathcal{J}.$$

An associated differential equation (Q_1) with par meters $[\kappa, \lambda]$, $\kappa^2 + \lambda^2 > 0$ is introduced (see [2], [3]), for the equation (q), which makes it possible to show the relationship between the first phases of the differential equations (Q_1) and (q). Furthermore, the associated differential equation with parameters $[\kappa, \lambda]$ is of the form

$$Y'' = Q_1(t)Y,$$

where $t \in \mathcal{J}$ and

$$Q_1(t) = q(t) + \frac{1}{2} \frac{\lambda^2 q''(t)}{\kappa^2 - \lambda^2 q(t)} + \frac{3}{4} \frac{\lambda^4 (q'(t))^2}{(\kappa^2 - \lambda^2 q(t))^2} + \frac{\kappa \lambda q'(t)}{\kappa^2 - \lambda^2 q(t)}$$

Introduced here, for the aforementioned reasons, is the terminology "a-phase with parameters $[\kappa, \lambda]$ for a basis (u, v) of differential equation (q)".

Key words: Linear differential equation of second order in Jacobi form, first amplitude, second amplitude, *a*-amplitude with parameters $[\kappa, \lambda]$, first phase, *a*-phase with parameters $[\kappa, \lambda]$ for basis (u, v) of a linear differential equation in Jacobi form, associated differential equation to a linear second order differential equation in Jacobi form.

MS Classification: 34A30, 34B05, 34B10, 34C10, 34C20

Introductory notes: In the paper we will denote by

 $\mathbb{N}, \mathbb{Z}, \mathbb{R}$ the set of natural, integral and real numbers, respectively. \mathcal{J} is an open interval (a, b), where a may be $-\infty$ and b may be ∞ . $C_n(\mathcal{J})$ is the set of functions defined in \mathcal{J} with n continuous derivatives, $n \in \mathbb{N}$. $C_0(\mathcal{J})$ is the set of functions continuous in \mathcal{J} .

 $\{\alpha, t\}$ denotes the Schwarzian derivative $\frac{1}{2} \frac{\alpha'''(t)}{\alpha'(t)} - \frac{3}{4} \frac{(\alpha''(t))^2}{(\alpha'(t))^2}$.

1 Amplitudes

Consider the second order differential equation of Jacobi form

$$y'' = q(t)y, \tag{q}$$

where $q \in C_2(\mathcal{J})$ and $\mathcal{J} = (a, b)$.

Let (u, v) be a basis of the solution space of differential equation (q). Let w be the Wronskian of the basis (u, v), thus

$$w = u(t)v'(t) - u'(t)v(t).$$

Definition 1 By the formulas

$$r = \sqrt{u^2 + v^2} \tag{1}$$

$$s = \sqrt{u'^2 + v'^2}$$
 (2)

$$\sigma = \sqrt{(\kappa u + \lambda u')^2 + (\kappa v + \lambda v')^2}, \quad \kappa, \lambda \in \mathbb{R}, \quad \kappa^2 + \lambda^2 > 0,$$
(3)

we define in \mathcal{J} functions r = r(t), s = s(t), $\sigma = \sigma(t)$ called the first amplitude, resp. the second amplitude, resp. the *a*-amplitude with parameters $[\kappa, \lambda]$ of the basis (u, v) of differential equation (q).

- It follows that:
- 1° Amplitudes of an inverse basis (v, u) are again r, s, σ .
- 2° Amplitude r(s) we obtain from the *a*-amplitude with parameters $[\kappa, \lambda]$ by substituting $\kappa = 1, \lambda = 0$ ($\kappa = 0, \lambda = 1$).

Theorem 1 The amplitude r, resp. s, resp. σ for basis (u, v) of differential equation (q) satisfies the following nonlinear differential equation of the second order

$$r'' = qr + \frac{w^2}{r^3}$$

$$resp. s'' = qs + \frac{w^2q^2}{s^3} + \frac{q'}{q}s'$$

$$resp. \sigma'' = \left(q + \frac{\kappa\lambda q'}{\kappa^2 - \lambda^2 q}\right)\sigma + \frac{w^2(\kappa^2 - \lambda^2 q)^2}{\sigma^3} - \frac{\lambda^2 q'}{\kappa^2 - \lambda^2 q}\sigma',$$

$$\left.\right\}$$

$$(4)$$

where w is the Wronskian of basis (u, v).

Proof From relation (3) we get

$$\sigma^{2} = (\kappa u + \lambda u')^{2} + (\kappa v + \lambda v')^{2}$$
(5)

and by successive differentiation and rearrangement follows

$$\sigma\sigma' = (\kappa u' + \lambda q u)(\kappa u + \lambda u') + (\kappa v + \lambda v')(\kappa v' + \lambda q v),$$
(6)

$$\sigma^{\prime 2} + \sigma \sigma^{\prime \prime} = (\kappa u^{\prime} + \lambda q u)^{2} + (\kappa v^{\prime} + \lambda q v)^{2} + q \sigma^{2} + \lambda q^{\prime} [u(\kappa u + \lambda u^{\prime}) + v(\kappa v + \lambda v^{\prime})].$$
(7)

If we multiply (7) by σ^2 , substitute for $\sigma\sigma'$ from (6) and apply (5), then we get after a rearrangement

$$\sigma^{3}\sigma^{\prime\prime} = q\sigma^{4} + \lambda q^{\prime}\sigma^{2} \left[\kappa(u^{2} + v^{2}) + \lambda(uu^{\prime} + vv^{\prime})\right] + w^{2} \left(\kappa^{2} - \lambda^{2}q\right)^{2}.$$
 (8)

Because of formulas (5) and (6) we have

$$\begin{split} \kappa\sigma^2 - \lambda\sigma\sigma' &= \kappa^3 u^2 + \kappa\lambda^2 u'^2 + 2\kappa^2 \lambda uu' + \kappa^3 v^2 + 2\kappa^2 \lambda vv' + \kappa\lambda^2 v'^2 - \\ \lambda(\kappa^2 uu' + \kappa\lambda u'^2 + \kappa\lambda qu^2 + \lambda^2 quu' + \kappa^2 vv' + \kappa\lambda v'^2 + \kappa\lambda qv^2 + \\ \lambda^2 qvv') \\ &= \kappa^3 (u^2 + v^2) + \kappa^2 \lambda (uu' + vv') - \kappa\lambda^2 q(u^2 + v^2) - \lambda^3 q(uu' + vv') \\ &= \kappa (u^2 + v^2) (\kappa^2 - \lambda^2 q) + \lambda (uu' + vv') (\kappa^2 - \lambda^2 q) \\ &= (\kappa^2 - \lambda^2 q) [\kappa (u^2 + v^2) + \lambda (uu' + vv')]. \end{split}$$

Therefore follows the identity in $\mathcal J$

$$\kappa\sigma^2 - \lambda\sigma\sigma' = (\kappa^2 - \lambda^2 q)[\kappa(u^2 + v^2) + \lambda(uu' + vv')]$$
(9)

and from (8) we get the relation

$$\sigma^3\sigma^{\prime\prime}=q\sigma^4+\lambda q^\prime\sigma^2rac{\kappa\sigma^2-\lambda\sigma\sigma^\prime}{\kappa^2-\lambda^2q}+w^2(\kappa^2-\lambda^2q)^2,$$

and consequently we obtain the third equation in (4).

For $\kappa = 1$, $\lambda = 0$ we arrive at the first equation in (4) for the first amplitude r for basis (u, v) of differential equation (q).

For $\kappa = 0$, $\lambda = 1$ we arrive at the second equation in (4) for the second amplitude s for basis (u, v) of differential equation (q).

2 Phases

Suppose that the zeros of the function v', if they exist, are isolated in the interval \mathcal{J} . This condition is for example satisfied when the carrier q of differential equation (q) is nonzero in \mathcal{J} (see [1]).

Definition 2 By the first phase, resp. second phase, resp. *a*-phase with parameters $[\kappa, \lambda]$ for basis (u, v) of differential equation (q) we understand a continuous function α , resp. β , resp. γ in \mathcal{J} which satisfies with the exception of the zeros of v, resp. v', resp. $\kappa v + \lambda v'$ the equation

$$\tan \alpha(t) = \frac{u(t)}{v(t)}, \quad \text{resp} \quad \tan \beta(t) = \frac{u'(t)}{v'(t)}, \tag{10}$$

resp.
$$\tan \gamma(t) = \frac{\kappa u(t) + \lambda u'(t)}{\kappa v(t) + \lambda v'(t)}.$$
 (11)

By the first, resp. second equation in (10), resp. equation (11), is defined a countable system of phases α , resp. β , resp. γ for the basis (u, v) of differential equation (q). This system is called the phase system of the first phases, resp. second phases, resp. *a*-phases with parameters $[\kappa, \lambda]$ for basis (u, v) of differential equation (q) and we denote these systems by (α) , resp. (β) , resp. (γ) .

If we take a first phase $\alpha \in (\alpha)$, resp. second phase $\beta \in (\beta)$, resp. *a*-phase $\gamma \in (\gamma)$ with parameters $[\kappa, \lambda]$, then the system (α) , resp. (β) , resp. (γ) consists of functions

$$\alpha_{\nu}(t) = \alpha(t) + \nu \pi$$
, resp. $\beta_{\nu}(t) = \beta(t) + \nu \pi$, resp. $\gamma_{\nu}(t) = \gamma(t) + \nu \pi$, (12)

where $\nu \in \mathbb{Z}$, $\alpha_0 = \alpha$, $\beta_0 = \beta$, $\gamma_0 = \gamma$.

Functions of phase systems can be ordered so that

$$\cdots < \alpha_{-2} < \alpha_{-1} < \alpha_0 < \alpha_1 < \alpha_2 < \cdots, \tag{13}$$

$$\dots < \beta_{-2} < \beta_{-1} < \beta_0 < \beta_1 < \beta_2 < \dots, \tag{14}$$

$$\dots < \gamma_{-2} < \gamma_{-1} < \gamma_0 < \gamma_1 < \gamma_2 < \dots \tag{15}$$

We note now properties of an *a*-phase $\gamma \in (\gamma)$ with parameters $[\kappa, \lambda]$. From formula (11) we obtain in \mathcal{J} equalities

$$(\tan\gamma(t))' = \frac{\gamma'(t)}{\cos^2\gamma(t)} = \left(\frac{\kappa u + \lambda u'}{\kappa v + \lambda v'}\right)' = -\frac{w(\kappa^2 - \lambda^2 q)}{(\kappa v + \lambda v')^2}.$$
 (16)

From here and (12) we infer that:

Any *a*-phase $\gamma_{\nu} \in (\gamma)$ with parameters $[\kappa, \lambda]$ in \mathcal{J} increases resp. decreases, when $-w(\kappa^2 - \lambda^2 q) > 0$, resp. $-w(\kappa^2 - \lambda^2 q) < 0$ in the interval \mathcal{J} .

Then from (11) we get

$$\rho \sin(\gamma_{\nu}(t)) = \kappa u(t) + \lambda u'(t), \rho \cos(\gamma_{\nu}(t)) = \kappa v(t) + \lambda v'(t),$$

$$(17)$$

 $_{\rm thus}$

$$\rho^2 = (\kappa u + \lambda u')^2 + (\kappa v + \lambda v')^2 = \sigma^2,$$

and from (17) we get

$$\kappa u + \lambda u' = \hat{\varepsilon}_{\nu} \sigma(t) \sin(\gamma_{\nu}(t)), \kappa v + \lambda v' = \hat{\varepsilon}_{\nu} \sigma(t) \cos(\gamma_{\nu}(t)),$$

$$(18)$$

where $\hat{\varepsilon}_{\nu} = \pm 1$.

Definition 3 An *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$ is called proper (improper) relative to the basis (u, v) of differential equation (q) accordingly as in formula (18) there is $\hat{\varepsilon}_{\nu} = 1$ ($\hat{\varepsilon}_{\nu} = -1$).

Let γ_{ν} and $\gamma_{\nu+1} = \gamma_{\nu} + \pi$ be two successive *a*-phases with parameters $[\kappa, \lambda]$ in phase system (γ) with ordering (15). Since $\sin(\gamma_{\nu+1}) = -\sin(\gamma_{\nu})$, $\cos(\gamma_{\nu+1}) = -\cos(\gamma_{\nu})$, we obtain by formulas (18):

Theorem 2 In phase system (8) with ordering (15) of a-phases with parameters $[\kappa, \lambda]$, proper and improper a-phases alternate, that is, the successor of a proper a-phase is an improper a-phase and conversely.

From (18) we derive also the following:

Theorem 3 Any proper (improper) a-phase with parameters $[\kappa, \lambda]$ relative to the basis (u, v) is improper (proper) relative to the basis (-u, -v).

If we consider two cases of values of the Wronskian w of the basis (u, v), whether -w > 0 or -w < 0, we can easily derive the following assertions from (16):

- 3° When -w > 0, then any *a*-phase γ with parameters $[\kappa, \lambda]$ for the basis (u, v) increases (decreases) in \mathcal{J} accordingly as $\kappa^2 \lambda^2 q > 0$ ($\kappa^2 \lambda^2 q < 0$) holds in \mathcal{J} .
- 4° When -w < 0, then every *a*-phase γ with parameters $[\kappa, \lambda]$ decreases (increases) in \mathcal{J} accordingly as $\kappa^2 \lambda^2 q > 0$ ($\kappa^2 \lambda^2 q < 0$) holds in \mathcal{J} .
- 5° If $\kappa = 1$, $\lambda = 0$, then from (16) we get:

When -w > 0, then each first phase α for the basis (u, v) increases in \mathcal{J} .

When -w < 0, then each first phase α for the basis (u, v) decreases in \mathcal{J} .

6° If $\kappa = 0$, $\lambda = 1$, then from (16) we get:

When -w > 0, then each second phase β for the basis (u, v) increases (decreases) in \mathcal{J} accordingly as -q > 0 (-q < 0) in \mathcal{J} .

When -w < 0, then each second phase β for the basis (u, v) decreases (increases) in \mathcal{J} accordingly as -q > 0 (-q < 0) in \mathcal{J} .

3 Relations among the phases of the same basis.

Relations among amplitudes and phases for the basis (u, v) of differential equation (q) and those of the differential equation (\hat{q}_1) associated to (q) (introduced in [1]) will be completed here by the relations for *a*-amplitudes and *a*-phases with parameters $[\kappa, \lambda]$ of the same basis.

Let (u, v) be a basis of differential equation (q) with Wronskian w = uv' - u'v. Let $\alpha \in (\alpha), \beta \in (\beta), \gamma \in (\gamma)$ be the first phase, resp. the second phase, resp. an *a*-phase with parameters $[\kappa, \lambda]$ for the basis (u, v) and ε , resp. ε' , resp. $\hat{\varepsilon}$ the corresponding sign. From the formulas

$$\kappa u(t) + \lambda u'(t) = \hat{\varepsilon}_{\nu} \sigma(t) \sin(\gamma_{\nu}(t)), \kappa v(t) + \lambda v'(t) = \hat{\varepsilon}_{\nu} \sigma(t) \cos(\gamma_{\nu}(t))$$

$$(19)$$

we obtain in the case $\kappa = 1$, $\lambda = 0$ (see [1]) that

$$\begin{array}{ll} u(t) &= & \varepsilon_{\nu} r(t) \sin(\alpha_{\nu}(t)), \\ v(t) &= & \varepsilon_{\nu} r(t) \cos(\alpha_{\nu}(t)) \end{array} \right\}$$

$$(20)$$

and in the case $\kappa = 0$, $\lambda = 1$ (see [1]) that

$$\begin{array}{lll} u'(t) &= & \varepsilon'_{\nu} s(t) \sin(\beta_{\nu}(t)), \\ v'(t) &= & \varepsilon'_{\nu} s(t) \cos(\beta_{\nu}(t)) \end{array} \right\}$$

$$(21)$$

By the help of fundamental geometric relations and formulas (19), (20) and (21) we get

$$r\sigma\sin(\gamma-\alpha) = r\sigma(\sin\gamma\cos\alpha - \cos\gamma\sin\alpha) = \hat{\varepsilon}(\kappa u + \lambda u')\varepsilon v - \hat{\varepsilon}(\kappa v + \lambda v')\varepsilon u = \varepsilon\hat{\varepsilon}\lambda(-w), \ \lambda \neq 0,$$
(22)

$$\sigma s \sin(\beta - \gamma) = \sigma s(\sin\beta\cos\gamma - \cos\beta\sin\gamma) = \varepsilon' u' \hat{\varepsilon}(\kappa v + \lambda u') = \hat{\varepsilon}\varepsilon' \kappa(-w), \ \kappa \neq 0,$$

$$(23)$$

$$rs\sin(\beta - \alpha) = rs(\sin\beta\cos\alpha - \cos\beta\sin\alpha) = \varepsilon'u'\varepsilon v - \varepsilon'v'\varepsilon u$$

= $\varepsilon\varepsilon'(-w)$. (24)

Since the right side in (22), (23), (24) is different from zero, there exists $m, n, p \in \mathbb{Z}$ such that the difference $(\gamma - \alpha)$ resp. $(\beta - \gamma)$, resp. $(\beta - \alpha)$ at any point $t \in \mathcal{J}$ lies between numbers $m\pi$ and $(m+1)\pi$, resp. $n\pi$ and $(n+1)\pi$, resp. $p\pi$ and $(p+1)\pi$; thus we have:

$$m\pi < \gamma - \alpha < (m+1)\pi, \ n\pi < \beta - \gamma < (n+1)\pi, \ p\pi < \beta - \alpha < (p+1)\pi$$
 (25)

We remark now on the first two inequalities in (25). In the first case, resp. the second case, we set

$$\alpha_0 = \alpha + m\pi, \quad \gamma_0 = \gamma, \quad \text{resp.} \quad \gamma_0 = \gamma, \quad \beta_0 = \beta - n\pi \tag{26}$$

and we define phases

$$\alpha_{\nu} = \alpha_0(t) + \nu\pi, \qquad \beta_{\nu} = \beta_0(t) + \nu\pi, \qquad \gamma_{\nu} = \gamma_0(t) + \nu\pi$$

where $\nu \in \mathbb{Z}$. If we substitute from (26) into the first inequality, resp. the second inequality, in formula (25), then we get

$$m\pi < \gamma_0 - (\alpha_0 - m\pi) < (m+1)\pi$$
, resp. $n\pi < (\beta_0 + n\pi) - \gamma_0 < (n+1)\pi$,

or

$$0 < \gamma_0 - \alpha_0 < \pi$$
, resp. $0 < \beta_0 - \gamma_0 < \pi$

and also

 $0 < \gamma_{\nu} - \alpha_{\nu} < \pi$, resp. $0 < \beta_{\nu} - \gamma_{\nu} < \pi$.

Thus for $\nu \in \mathbb{Z}$ we get from the above

$$\alpha_{\nu} < \gamma_{\nu} < \alpha_{\nu+1}, \text{ resp. } \gamma_{\nu} < \beta_{\nu} < \gamma_{\nu+1}$$

Thus we can also say:

7° The phase systems of first phases and *a*-phases with parameters $[\kappa, \lambda]$, resp. second phases and *a*-phases with parameters $[\kappa, \lambda]$ for the basis (u, v), are possible to order in the following way:

$$\cdots < \alpha_{-1} < \gamma_{-1} < \alpha_0 < \gamma_0 < \alpha_1 < \gamma_1 < \cdots,$$

$$(27)$$

resp.

$$\cdots < \gamma_{-1} < \beta_{-1} < \gamma_0 < \beta_0 < \gamma_1 < \beta_1 < \cdots$$
 (28)

We discuss here interleaved phases systems for the basis (u, v). For the above orderings the neighboring phases satisfy inequalities

$$\left.\begin{array}{c} 0 < \gamma_{\nu} - \alpha_{\nu} < \pi \quad \text{and} \quad -\pi < \gamma_{\nu} - \alpha_{\nu+1} < 0, \\ \text{resp.} \\ 0 < \beta_{\nu} - \gamma_{\nu} < \pi \quad \text{and} \quad -\pi < \beta_{\nu} - \gamma_{\nu+1} < 0. \end{array}\right\}$$
(29)

We investigate now the third inequality in (25). Let us introduce new notation

$$\alpha_0 = \alpha, \quad \beta_0 = \beta - p\pi$$

and substitute into the third inequality in (25) to obtain

$$p\pi < (\beta_0 + p\pi) - \alpha_0 < (p+1)\pi$$

or

 $0 < \beta_0 - \alpha_0 < \pi$

and also

$$0 < \beta_{\nu} - \alpha_{\nu} < \pi.$$

Thus for $\nu \in \mathbb{Z}$ we get from the above

$$\alpha_{\nu} < \beta_{\nu} < \alpha_{\nu+1}.$$

We can also say:

.

8° The phase systems of first phases and second phases for the basis (u, v) in the new notation are possible to order as follows:

$$\dots < \alpha_{-1} < \beta_{-1} < \alpha_0 < \beta_0 < \alpha_1 < \beta_1 < \dots \tag{30}$$

In this ordering, neighboring phases of interleaved phases system (30) obey inequalities

$$0 < \beta_{\nu} - \alpha_{\nu} < \pi$$
, and $-\pi < \beta_{\nu} - \alpha_{\nu+1} < 0.$ (31)

If we apply formula (24) on phases of the interleaved phase system (30), resp. formula (23) on phases of the interleaved phase system (28), resp. formula (22) on phases of the interleaved phase system (27), then according to formulas (29), (31) we get the following relations:

A)
$$\operatorname{sgn} \varepsilon_{\nu} \varepsilon'_{\nu}(-w) = 1, \quad \operatorname{sgn} \varepsilon'_{\nu} \varepsilon_{\nu+1}(-w) = -1$$

B) $\operatorname{sgn} \hat{\varepsilon}_{\nu} \varepsilon'_{\nu}(-w) = 1, \quad \operatorname{sgn} \varepsilon'_{\nu} \hat{\varepsilon}_{\nu+1}(-w) = -1$
C) $\operatorname{sgn} \varepsilon_{\nu} \hat{\varepsilon}_{\nu}(-w) = 1, \quad \operatorname{sgn} \hat{\varepsilon}_{\nu} \varepsilon_{\nu+1}(-w) = -1$

$$\left.\right\}$$
(32)

We investigate now two cases where the value of the Wronskian w satisfies -w > 0 or -w < 0.

We discuss (32A): In the case -w > 0 we have

$$\operatorname{sgn} \varepsilon_{\nu} \varepsilon'_{\nu} = 1, \qquad \operatorname{sgn} \varepsilon'_{\nu} \varepsilon_{\nu+1} = -1.$$

Thus in the ordering of the interleaved phase system (30) we have:

Behind any proper (improper) first phase α_{ν} follows a proper (improper) second phase β_{ν} , meanwhile behind any proper (improper) second phase β_{ν} follows an improper (proper) first phase $\alpha_{\nu+1}$.

In the case -w < 0 we have

 $\operatorname{sgn} \varepsilon_{\nu} \varepsilon'_{\nu} = -1, \qquad \operatorname{sgn} \varepsilon'_{\nu} \varepsilon_{\nu+1} = 1.$

Thus in the ordering of the interleaved phase system (30) we have:

Behind any proper (improper) first phase α_{ν} follows an improper (proper) second phase β_{ν} , meanwhile behind any proper (improper) second phase β_{ν} follows a proper (improper) first phase $\alpha_{\nu+1}$.

We discuss (32B): In the case -w > 0 we have:

If $\kappa > 0$, then $\operatorname{sgn} \hat{\varepsilon}_{\nu} \varepsilon'_{\nu} = 1$, $\operatorname{sgn} \varepsilon'_{\nu} \hat{\varepsilon}_{\nu+1} = -1$.

If $\kappa < 0$, then $\operatorname{sgn} \hat{\varepsilon}_{\nu} \varepsilon'_{\nu} = -1$, $\operatorname{sgn} \varepsilon'_{\nu} \hat{\varepsilon}_{\nu+1} = 1$.

Thus in the ordering of interleaved phase system (28) we have:

If $\kappa > 0$, then behind every proper (improper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$ follows a proper (improper) second phase β_{ν} , meanwhile behind each proper (improper) second phase β_{ν} follows an improper (proper) *a*-phase $\gamma_{\nu+1}$ with parameters $[\kappa, \lambda]$.

If $\kappa < 0$, then behind each proper (improper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$ follows an improper (proper) second phase β_{ν} , meanwhile behind each proper (improper) second phase β_{ν} follows a proper (improper) *a*-phase $\gamma_{\nu+1}$ with parameters $[\kappa, \lambda]$.

In the case -w < 0 we have:

If $\kappa > 0$, then $\operatorname{sgn} \hat{\varepsilon}_{\nu} \varepsilon'_{\nu} = -1$, $\operatorname{sgn} \varepsilon'_{\nu} \hat{\varepsilon}_{\nu+1} = 1$.

If $\kappa < 0$, then $\operatorname{sgn} \hat{\varepsilon}_{\nu} \varepsilon'_{\nu} = 1$, $\operatorname{sgn} \varepsilon'_{\nu} \hat{\varepsilon}_{\nu+1} = -1$.

Thus in the ordering of interleaved phase system (28) we have:

If $\kappa > 0$, then behind each proper (improper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$ follows an improper (proper) second phase β_{ν} , meanwhile behind each proper (improper) second phase β_{ν} follows a proper (improper) *a*-phase $\gamma_{\nu+1}$ with parameters $[\kappa, \lambda]$.

If $\kappa < 0$, then behind each proper (improper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$ follows a proper (improper) second phase β_{ν} , meanwhile behind each proper (improper) second phase β_{ν} follows an improper (proper) *a*-phase $\gamma_{\nu+1}$ with parameters $[\kappa, \lambda]$.

We discuss (32C): In the case -w > 0 we have

If $\lambda > 0$, then sgn $\varepsilon_{\nu} \hat{\varepsilon}_{\nu}(-w) = 1$, sgn $\hat{\varepsilon}_{\nu} \varepsilon_{\nu+1} = -1$.

If
$$\lambda < 0$$
, then $\operatorname{sgn} \varepsilon_{\nu} \hat{\varepsilon}_{\nu} (-w) = -1$, $\operatorname{sgn} \hat{\varepsilon}_{\nu} \varepsilon_{\nu+1} = 1$

Thus in the ordering of interleaved phase system (26) we have:

If $\lambda > 0$, then behind each proper (improper) first phase α_{ν} follows a proper (improper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$, meanwhile behind each proper (improper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$ follows an improper (proper) first phase $\alpha_{\nu+1}$.

If $\lambda < 0$, then behind each proper (improper) first phase α_{ν} follows an improper (proper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$, meanwhile behind each proper (improper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$ follows a proper (improper) first phase $\alpha_{\nu+1}$.

In the case -w < 0 we have

If
$$\lambda > 0$$
, then $\operatorname{sgn} \varepsilon_{\nu} \hat{\varepsilon}_{\nu}(-w) = -1$, $\operatorname{sgn} \hat{\varepsilon}_{\nu} \varepsilon_{\nu+1} = 1$.

If $\lambda < 0$, then $\operatorname{sgn} \varepsilon_{\nu} \hat{\varepsilon}_{\nu}(-w) = 1$, $\operatorname{sgn} \hat{\varepsilon}_{\nu} \varepsilon_{\nu+1} = -1$.

Thus in the ordering of the interleaved phase system (26) we have:

If $\lambda > 0$, then behind each proper (improper) first phase α_{ν} follows an improper (proper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$, meanwhile behind each proper (improper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$ follows a proper (improper) first phase $\alpha_{\nu+1}$.

If $\lambda < 0$, then behind each proper (improper) first phase α_{ν} follows a proper (improper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$, meanwhile behind each proper (improper) *a*-phase γ_{ν} with parameters $[\kappa, \lambda]$ follows an improper (proper) first phase $\alpha_{\nu+1}$.

4 The associated differential equation with parameters for the differential equation (q).

To derive the relation between the first phase and the *a*-phase for basis (u, v) of differential equation (q) we use a special relationship of the associated differential equation (Q_1) with parameters to the differential equation (q).

Definition 4 The linear second order differential equation of Jacobi form

$$Y'' = Q_1(t)Y, \quad t \in \mathcal{J}, \quad (Q_1)$$

with carrier

$$Q_1(t) = q(t) + \frac{1}{2} \frac{\lambda^2 q''(t)}{\kappa^2 - \lambda^2 q(t)} + \frac{3}{4} \frac{\lambda^4 (q'(t))^2}{(\kappa^2 - \lambda^2 q(t))^2} + \frac{\kappa \lambda q'(t)}{\kappa^2 - \lambda^2 q(t)},$$

is called an associated differential equation with parameters $[\kappa, \lambda]$ to the second order differential equation (q).

It is known that (see [2]):

If (u, v) is a basis of differential equation (q), then (U, V) is a basis of differential equation (Q_1) , where

$$U = \frac{\kappa u + \lambda u'}{\sqrt{|\kappa^2 - \lambda^2 q|}}, \quad V = \frac{\kappa v + \lambda v'}{\sqrt{|\kappa^2 - \lambda^2 q|}}.$$
(33)

Let γ be the first phase of the associated differential equation (Q_1) to differential equation (q). According to the definition of the first phase, γ is a continuous function in \mathcal{J} , which satisfies there the equation

$$\tan \gamma(t) = \frac{U(t)}{V(t)} \left(\equiv \frac{\kappa u(t) + \lambda u'(t)}{\kappa v(t) + \lambda v'(t)} \right)$$

except at zeros of the denominator $\kappa v(t) + \lambda v'(t)$. From this we infer the following:

Theorem 4 The first phase γ for basis (U, V) of the associated differential equation (Q_1) with parameters $[\kappa, \lambda]$ to differential equation (q) is an a-phase with parameters $[\kappa, \lambda]$ for the basis (u, v) of differential equation (q), where U, V are given by formula (33) and conversely.

Theorem 5 Let $q \in C_0(\mathcal{J})$. Then $\gamma \in C_1(\mathcal{J})$.

Proof Together with the phase γ we consider a function $\bar{\gamma} = \bar{\gamma}(t)$ defined in \mathcal{J} by the formula

$$\bar{\gamma} = \gamma(x) + \int_t^x \frac{-w(\kappa^2 - \lambda^2 q(\tau))}{\sigma^2(\tau)} d\tau, \qquad (34)$$

where $x \in \mathcal{J}$ is a point at which $\kappa v(x) + \lambda v'(x) \neq 0$. Clearly $\bar{\gamma} \in C_1(\mathcal{J})$.

From formula (11) we obtain that

 $\gamma(t) = \arctan((\kappa u(t) + \lambda u'(t))/(\kappa v(t) + \lambda v'(t))),$

where arctan means an appropriate branch of the function defined in the interval \mathcal{J} between neighboring zeros of the function $\kappa v(t) + \lambda v'(t)$. After differentiation, we have

$$\gamma'(t) = \frac{-w(\kappa^2 - \lambda^2 q(t))}{\sigma^2(t)} \tag{35}$$

except at zeros of $\kappa v + \lambda v'$. From (34) and from (35) it follows that in \mathcal{J} except at zeros of $\kappa v + \lambda v'$ we have $\bar{\gamma}'(t) = \gamma'(t)$.

Functions $\bar{\gamma}$ and γ therefore differ by a constant. Because of (34) it follows that $\bar{\gamma}(x) = \gamma(x)$ and since zeros of $\kappa v + \lambda v'$ are isolated in \mathcal{J} , it follows that $\gamma(t) = \bar{\gamma}(t)$ in \mathcal{J} and hence $\gamma \in C_1(\mathcal{J})$.

Let α , β , γ be the first phase, resp. second phase, resp. *a*-phase with parameters $[\kappa, \lambda]$ for the basis (u, v) of differential equation (q). By equation (35) with $\kappa = 1$, $\lambda = 0$ we get

$$\alpha' = \frac{-w}{r^2(t)},\tag{36}$$

and with $\kappa = 0, \lambda = 1$ we have

$$\beta' = \frac{wq(t)}{s^2(t)}.\tag{37}$$

From equations (22), (23) and (24) it is possible to derive, with the use of (35), (36) and (37), the following relations:

$$r\sigma\sin(\gamma-\alpha) = \varepsilon\hat{\varepsilon}\lambda(-w)$$

$$r^{2}\sigma^{2}\sin^{2}(\gamma-\alpha) = \lambda^{2}w^{2}$$

$$\frac{-w}{\alpha'}\frac{-w(\kappa^{2}-\lambda^{2}q)}{\gamma'}\sin^{2}(\gamma-\alpha) = \lambda^{2}w^{2}$$

$$\frac{-w(\kappa^{2}-\lambda^{2}q)}{\gamma'}\sin^{2}(\beta-\gamma) = \varepsilon'\hat{\varepsilon}\kappa(-w)$$

$$s\sigma\sin(\beta-\gamma) = \varepsilon'\hat{\varepsilon}\kappa(-w)$$

$$s^{2}\sigma^{2}\sin^{2}(\beta-\gamma) = \kappa^{2}w^{2}$$

$$\frac{-w(\kappa^{2}-\lambda^{2}q)}{\gamma'}\frac{wq}{\beta'}\sin^{2}(\beta-\gamma) = \kappa^{2}w^{2}$$

$$\frac{\beta'\gamma'}{\sin^{2}(\beta-\gamma)} = -\frac{(\kappa^{2}-\lambda^{2}q)q}{\kappa^{2}}$$

$$rs\sin(\beta-\alpha) = \varepsilon\varepsilon'(-w)$$

$$r^{2}s^{2}\sin^{2}(\beta-\alpha) = w^{2}$$

$$\frac{-w}{\alpha'}\frac{wq}{\beta'}\sin^{2}(\beta-\alpha) = w^{2}$$

$$\{40\}$$

$$\int \frac{\alpha'\beta'}{\sin^2(\beta-\alpha)} = -q \qquad \int$$

Other relations we get directly from equations (35), (36) and (37). We have

$$\frac{\beta'}{\alpha'}\frac{s^2}{r^2} = -q,\tag{41}$$

$$rac{\gamma'}{\alpha'}rac{\sigma^2}{r^2} = \kappa^2 - \lambda^2 q,$$
 (42)

$$\frac{\gamma'}{\beta'}\frac{\sigma^2}{s^2} = \frac{\kappa^2 - \lambda^2 q}{q}.$$
(43)

Equations (41), (42), (43) will serve us in the following assertions and also in formulating theorems.

From equation (41) we have: If -q > 0, resp. -q < 0, at a point $t \in \mathcal{J}$, then the functions α' , β' have at t the same sign, resp. opposite signs.

Theorem 6 Let $q \neq 0$ in \mathcal{J} . Then it follows that:

If -q > 0, then phases α , β for the basis (u, v) will be both increasing or both decreasing in \mathcal{J} .

If -q < 0, then one of the phases α , β increases and the other decreases in \mathcal{J} .

Theorem 7 Let $q \neq 0$ in \mathcal{J} . Then for the interleaved phase system (30) it follows that:

If -q > 0, then phases α_{ν} , β_{ν} for the basis (u, v) will be both increasing or both decreasing in \mathcal{J} .

If -q < 0, then one of the phases α_{ν} , β_{ν} for the basis (u, v) increases and the other decreases in \mathcal{J} .

From formula (42) follows:

Let be given κ , $\lambda \in \mathbb{R}$ with $\kappa^2 + \lambda^2 > 0$. If $\kappa^2 - \lambda^2 q > 0$, resp. $\kappa^2 - \lambda^2 q < 0$ at a point $t \in \mathcal{J}$, then the functions α' , γ' have at t the same sign, resp. opposite signs.

Theorem 8 Let $\kappa^2 - \lambda^2 q \neq 0$ in \mathcal{J} . Then the following holds:

If $\kappa^2 - \lambda^2 q > 0$, then the phases α , γ for the basis (u, v) will be both increasing or both decreasing in \mathcal{J} .

If $\kappa^2 - \lambda^2 q < 0$, then one of the phases α , γ is increasing and the other is decreasing in \mathcal{J} .

Theorem 9 Let $\kappa^2 - \lambda^2 q \neq 0$ in \mathcal{J} . Then for the interleaved phase system (27) the following holds:

If $\kappa^2 - \lambda^2 q > 0$, then the phases α_{ν} , γ_{ν} for the basis (u, v) will be both increasing or both decreasing in \mathcal{J} .

If $\kappa^2 - \lambda^2 q < 0$, then one of the phases α_{ν} , γ_{ν} increases and the other decreases in \mathcal{J} .

From formula (43) follows:

Let be given $\kappa, \lambda \in \mathbb{R}$ with $\kappa^2 + \lambda^2 > 0$. If $\frac{\kappa^2 - \lambda^2 q}{q} > 0$, $q \neq 0$, resp. $\frac{\kappa^2 - \lambda^2 q}{q} < 0$, $q \neq 0$, at a point $t \in \mathcal{J}$, then the functions γ', β' have at t the same sign, resp. opposite signs.

Theorem 10 Let $\kappa^2 - \lambda^2 q \neq 0$, $q \neq 0$ in \mathcal{J} . Then the following holds:

If $\frac{\kappa^2 - \lambda^2 q}{q} > 0$, then phases γ , β for the basis (u, v) will be both increasing or both decreasing in \mathcal{J} . If $\frac{\kappa^2 - \lambda^2 q}{q} < 0$, then one of the phases γ , β báze (u, v) increases and the other decreases in \mathcal{J} .

Theorem 11 Let $\frac{\kappa^2 - \lambda^2 q}{q} \neq 0$, $q \neq 0$ in \mathcal{J} . Then for the interleaved phase system (28) the following holds:

If $\frac{\kappa^2 - \lambda^2 q}{q} > 0$, then phases γ_{ν} , β_{ν} for the basis (u, v) will be both increasing or both decreasing in \mathcal{J} . If $\frac{\kappa^2 - \lambda^2 q}{q} < 0$, then one of the phases γ_{ν} , β_{ν} for the basis (u, v) increases and the other decreases in \mathcal{J} .

Theorem 12 Let $\alpha \in C_3(\mathcal{J})$, $\alpha' \neq 0$, $\gamma \in C_1(\mathcal{J})$ be arbitrary functions and let

$$\gamma = \alpha + \operatorname{arccot}\left[\frac{\kappa}{\lambda \alpha'} + \frac{1}{2}\left(\frac{1}{\alpha'}\right)'\right], \qquad (44)$$

where arccot is an appropriate branch of the function. Then α is a first phase and γ is an a-phase with parameters $[\kappa, \lambda]$ for the basis (u, v) of the linear differential equation (q): y'' = q(t)y with basis $u = |\alpha'|^{-1/2} \sin \alpha$, $v = |\alpha'|^{-1/2} \cos \alpha$ and carrier $q = -\{\alpha, t\} - (\alpha')^2$, $q \in C_0(\mathcal{J})$, where $\{\cdots\}$ denotes the Schwarzian derivative. Conversely, let (u, v) be a basis of differential equation $(q), q \in$ $C_0(\mathcal{J})$. Let α , γ be first phases, resp. a-phases with parameters $[\kappa, \lambda]$ for the basis (u, v). Then $\alpha \in C_3(\mathcal{J})$, $\alpha' \neq 0$, $\gamma \in C_1(\mathcal{J})$ and

$$\gamma = \alpha + \operatorname{arccot}\left[\frac{\kappa}{\lambda \alpha'} + \frac{1}{2}\left(\frac{1}{\alpha'}\right)'\right].$$
(44)

Proof Besides function α let us consider functions $u = |\alpha'|^{-1/2} \sin \alpha$, $v = |\alpha'|^{-1/2} \cos \alpha$.

If we differentiate twice, then we successively obtain

$$u' = \varepsilon |\alpha'|^{1/2} \left[\cos \alpha + \frac{1}{2} (1/\alpha')' \sin \alpha \right], \quad v' = \varepsilon |\alpha'|^{1/2} \left[-\sin \alpha + \frac{1}{2} (1/\alpha')' \cos \alpha \right]$$

where $\varepsilon = \operatorname{sgn}(\alpha')$,

 $u'' = \varepsilon \left[-\{\alpha, t\} - (\alpha')^2 \right] |\alpha'|^{-1/2} \sin \alpha, \quad v'' = \left[-\{\alpha, t\} - (\alpha')^2 \right] |\alpha'|^{-1/2} \cos \alpha.$

Note that

$$q = \frac{u''}{u} = \frac{v''}{v} = -\{\alpha, t\} - (\alpha')^2.$$

We see that (u, v) is a basis of differential equation (q) with Wronskian $w = -\varepsilon$ and carrier $q = -\{\alpha, t\} - (\alpha')^2$, $q \in C_0(\mathcal{J})$.

Since $\frac{u}{v} = \tan \alpha$, it follows that α is a first phase for the basis (u, v) of differential equation (q) with carrier $q = -\{\alpha, t\} - (\alpha')^2$.

Further, we have

$$\frac{\kappa u + \lambda u'}{\kappa v + \lambda v'} = \frac{\kappa |\alpha'|^{-1/2} \sin \alpha + \varepsilon \lambda |\alpha'|^{1/2} \left[\cos \alpha + \frac{1}{2} (1/\alpha')' \sin \alpha\right]}{\kappa |\alpha'|^{-1/2} \cos \alpha + \varepsilon \lambda |\alpha'|^{1/2} \left[-\sin \alpha + \frac{1}{2} (1/\alpha')' \cos \alpha\right]}$$
$$= \frac{\left[\frac{\kappa}{\lambda} \frac{1}{\alpha'} + \frac{1}{2} (1/\alpha')'\right] \sin \alpha + \cos \alpha}{\left[\frac{\kappa}{\lambda} \frac{1}{\alpha'} + \frac{1}{2} (1/\alpha')'\right] \cos \alpha - \sin \alpha}$$
$$= \frac{\cot(\gamma - \alpha) \sin \alpha + \cos \alpha}{\cot(\gamma - \alpha) \cos \alpha - \sin \alpha} = \frac{1}{\cot(\gamma - \alpha + \alpha)} = \tan \gamma.$$

The function γ is thus an *a*-phase with parameters $[\kappa, \lambda]$ for the basis (u, v) of differential equation (q).

Converse

If α is a first phase and γ is an *a*-phase with parameters $[\kappa, \lambda]$ for the basis (u, v), then we have: By the theorems before equation (34) it follows that $\gamma \in C_1(\mathcal{J})$. From formula (36) and the first equation in (4) we obtain that $\alpha \in C_3(\mathcal{J}), \alpha' \neq 0$.

From formula (1) we have $r^2 = u^2 + v^2$ and thus rr' = uu' + vv'. By the definition of phase and formula (25) it follows that

$$\tan \alpha(t) = \frac{u}{v}, \quad \tan \gamma(t) = \frac{\kappa u + \lambda u'}{\kappa v + \lambda v'}, \quad m\pi < \gamma - \alpha < (m+1)\pi, \quad m \in \mathbb{Z}.$$

Using fundamental geometric formulas and the foregoing relations we get in \mathcal{J} the equalities:

$$\cot(\gamma - \alpha) = -\frac{\cot \gamma \cot \alpha + 1}{\cot \gamma - \cot \alpha} = -\frac{\frac{\kappa v + \lambda v'}{\kappa u + \lambda u'} \frac{v}{u} + 1}{\frac{\kappa v + \lambda v'}{\kappa u + \lambda u'} - \frac{v}{u}}$$

$$= -\frac{(\kappa v + \lambda v')v + (\kappa u + \lambda u')u}{(\kappa v + \lambda v')u - (\kappa u + \lambda u')v}$$
$$= \frac{\kappa(u^2 + v^2) + \lambda(uu' + vv')}{\lambda(uv' - u'v)} = -\frac{\kappa r^2 + \lambda rr'}{\lambda w}$$
$$= -\frac{\kappa}{\lambda} \frac{r^2}{w} - \frac{rr'}{w} = \frac{\kappa}{\lambda} \frac{1}{\alpha'} + \frac{1}{2}(1/\alpha')',$$

since from formula (36) we get that $\frac{-r^2}{w} = \frac{1}{\alpha'}$, and by differentiation $\frac{-rr'}{w} = \frac{1}{2}(1/\alpha')'$. Thus, we obtain formula (44).

We show now other formulas for an *a*-phase with parameters $[\kappa, \lambda]$, which are interesting as well as useful in the theory of phases.

Theorem 13 Let α be a first phase and γ an a-phase with parameters $[\kappa, \lambda]$ for the basis (u, v) of differential equation $(q), q \in C_0(\mathcal{J})$. Then the following holds:

$$-\{\tan\gamma(t),t\} = q(t) + \frac{3}{4} \frac{\lambda^4 (q'(t))^2}{(\kappa^2 - \lambda^2 q)^2} + \frac{1}{2} \frac{\lambda^2 q''}{\kappa^2 - \lambda^2 q} + \frac{\kappa \lambda q'}{\kappa^2 - \lambda^2 q}.$$
 (45)

Proof After differentiation of the equation

$$\tan\gamma(t) = \frac{\kappa u + \lambda u'}{\kappa v + \lambda v'},$$

if we set $y = \tan \gamma$, then we get successively the following results:

$$y' = (-w)(\kappa^2 - \lambda^2 q)(\kappa v + \lambda v')^{-2},$$

$$y'' = (-w)[-\lambda^2 q'(\kappa v + \lambda v')^{-2} - 2(\kappa^2 - \lambda^2 q)(\kappa v' + \lambda q v)(\kappa v + \lambda v')^{-3}],$$

$$y''' = (-w)[-\lambda^2 q''(\kappa v + \lambda v')^{-2} + 4\lambda^2 \tilde{q}'(\kappa v' + \lambda q v')(\kappa v + \lambda v')^{-3} + 6(\kappa^2 - \lambda^2 q)(\kappa v' + \lambda q v)^2(\kappa v + \lambda v')^{-4} - 2q(\kappa^2 - \lambda^2 q)(\kappa v + \lambda v')^{-2} - 2\lambda q' v(\kappa^2 - \lambda^2 q)(\kappa v + \lambda v')^{-3}].$$

Then

$$\begin{aligned} -\{y,t\} &= \frac{3}{4} \frac{{y''}^2}{{y'}^2} - \frac{1}{2} \frac{{y''}}{{y'}} \\ &= \frac{3}{4} \left[\lambda^4 {q'}^2 (\kappa^2 - \lambda^2 q)^{-2} + 4\lambda^2 (\kappa v' + \lambda q v)^2 (\kappa v + \lambda v')^{-2} + \\ &\quad 4\lambda^2 q' (\kappa v' + \lambda q v) (\kappa^2 - \lambda^2 q)^{-1} (\kappa v + \lambda v')^{-1} \right] - \frac{1}{2} \left[-\lambda^2 q'' (\kappa^2 - \\ &\quad \lambda^2 q)^{-1} + 4\lambda^2 q' (\kappa v' + \lambda q v) (\kappa^2 - \lambda^2 q)^{-1} (\kappa v + \lambda v')^{-1} + 6(\kappa v' + \\ &\quad \lambda q v)^2 (\kappa v + \lambda v')^{-2} - 2q - 2\lambda v q' (\kappa v + \lambda v') \right] \\ &= q + \frac{3}{4} \lambda^4 q'^2 (\kappa^2 - \lambda^2 q)^2 + \frac{1}{2} \lambda^2 q'' (\kappa^2 - \lambda^2 q)^{-1} + \kappa \lambda q' (\kappa^2 - \lambda^2 q)^{-1} \end{aligned}$$

and the assertion of the theorem is proved.

Theorem 14 Let $q \in C_2(\mathcal{J})$. Let γ be an a-phase with parameters $[\kappa, \lambda]$ for the basis (u, v) of differential equation (q). Then the following holds:

$$\gamma' = (-w)\frac{\kappa^2 - \lambda^2 q}{\sigma^2}$$

$$\gamma'' = w\left(\frac{\lambda^2 q'}{\sigma^2} + 2\frac{\kappa^2 - \lambda^2 q}{\sigma^3}\sigma'\right),$$

$$\gamma''' = w\left(\frac{\lambda^2 q''}{\sigma^2} - 2\frac{2\lambda^2 q'\sigma' - (\kappa^2 - \lambda^2 q)\sigma''}{\sigma^3} - 6\frac{\kappa^2 - \lambda^2 q}{\sigma^4}{\sigma'}^2\right),$$

$$\left.\right\}$$

$$(46)$$

where σ is an a-amplitude with parameters $[\kappa, \lambda]$ for the basis (u, v).

Proof From (11) we get $\gamma = \arctan \frac{\kappa u + \lambda u'}{\kappa v + \lambda v'}$ and between neighboring zeros of $\kappa v + \lambda v'$, arctan means an appropriate branch of the function. By successive differentiation we get the above formulas.

Corollary 1 Setting $\kappa = 0$, $\lambda = 1$ we get from (46) the formula for the derivative of the second phase for the basis (u, v), defined in [1], namely

$$\begin{split} \beta' &= wqs^{-2}, \qquad \beta'' &= w(q's^{-2} - 2qs's^{-3}), \\ \beta''' &= w(q''s^{-2} - 2(2q's' + qs'')s^{-3} + 6qs'^2s^{-4}) \end{split}$$

where s is the second amplitude for the basis (u, v).

Theorem 15 Let α be a first phase and γ an a-phase with parameters $[\kappa, \lambda]$ for the basis (u, v) of differential equation (q) in \mathcal{J} . Then the following holds:

$$\{\tan\alpha,t\} - \{\tan\gamma,t\} + \{\int_{t_0}^t |\kappa^2 - \lambda^2 q| d\tau,t\} = -\frac{\kappa\lambda q'}{\kappa^2 - \lambda^2 q},\tag{47}$$

where symbol $\{\cdots\}$ denotes the Schwarzian derivative.

Proof From formula (48), which we write in the form

$$-\{\tan\gamma,t\} = Q_1,\tag{48}$$

where

$$Q_{1} = q(t) + \frac{3}{4} \frac{\lambda^{4}(q'(t))^{2}}{(\kappa^{2} - \lambda^{2}q)^{2}} + \frac{1}{2} \frac{\lambda^{2}q''}{\kappa^{2} - \lambda^{2}q} + \frac{\kappa\lambda q'}{\kappa^{2} - \lambda^{2}q},$$

we get for $\kappa = 1$, $\lambda = 0$, that

$$-\{\tan\alpha,t\}=q.\tag{49}$$

Furthermore, as a difference of the Court of the second states of the

$$-\{\int_{t_0}^t |\kappa^2 - \lambda^2 q(\tau)| d\tau, t\} = \frac{3}{4} \frac{\lambda^4 (q'(t))^2}{(\kappa^2 - \lambda^2 q)^2} + \frac{1}{2} \frac{\lambda^2 q''}{\kappa^2 - \lambda^2 q}$$

since if we set $y = \int_{t_0}^t |\kappa^2 - \lambda^2 q(\tau)| d\tau$, then we have: $y' = |\kappa^2 - \lambda^2 q|$, $y'' = -\varepsilon \lambda^2 q'$, $y''' = -\varepsilon \lambda^2 q''$, where $\varepsilon = \operatorname{sgn}(\kappa^2 - \lambda^2 q)$. Then

$$-\left\{\int_{t_{0}}^{t} |\kappa^{2} - \lambda^{2}q(\tau)|d\tau, t\right\} = \frac{3}{4} \frac{{y''}^{2}}{{y'}^{2}} - \frac{1}{2} \frac{{y'''}}{{y'}} = \frac{3}{4} \frac{\lambda^{4}(q'(t))^{2}}{(\kappa^{2} - \lambda^{2}q)^{2}} + \frac{1}{2} \frac{\lambda^{2}q''}{\kappa^{2} - \lambda^{2}q}.$$
(50)

From relations (48), (49) and (50) we get the assertion of the corollary.

Corollary 2 If in formula (47) we set $\kappa = 0$, $\lambda = 1$ then we get the relation between the first phase α and the second phase β for the basis (u, v) of differential equation (q), as defined in [1], in the form:

$$\{\tan \alpha, t\} - \{\tan \beta, t\} + \{\int_{t_0}^t |q(\tau)| d\tau, t\} = 0.$$

the second state of the strangers to the second second state

92

References

- Borůvka, O.: Lineare Differentialtransformationen 2. Ordnung. VEB DVW, Berlin 1967.
- [2] Laitoch, M.: L'équation associée dans la théorie des transformation differentielles du second ordre. Acta UP Olomucensis, Fac. rer. nat., T. 12, 1963, 45-62.
- [3] Laitoch, M.: Homogene lineare zu sich selbst begleitende Differentialgleichung zweiter Ordnung. Acta UP Olomucensis, Fac. rer. nat., T. 33, 1971, 61-72.
- [4] Fialka, M.: On a coincidence of the differential equation y'' q(t)y = r(t)with its associated equation. Acta UP Olomucensis, Fac. rer. nat., T. 91, Math. 27 (1988), 251-262.
- [5] Votava, M.: Některé vlastnosti druhé zobecněné fáze diferenciální rovnice 2. řádu Jacobiho typu. Acta facultas pedagogicae Ostraviensis, 101 (1986), Series A-21, 65-83.

ŝ

Author's address:

Miroslav Laitoch Lazecká 18 77200 Olomouc Czech Republic